TR 6 AL FLI T E R R R S S R SR IE TR (BB 1 5)

A 6 AR FE FLIM T OO B R ARBR S SR 2R IE TR (56 1 5) 13, RIZED
HETAICED,

% 1T L DA 1F)

e Nk (U TR OB AR ZZ36 0 0 FHZEBML, AR

THROREZBRNNEHENZEN3, 056, 600TFTMHETS,
THEOMIEDKIEAD X553 L O LXK Sy Z & O@H NI E# D

AR TROSFIT, (1R BABRHTEME] I2XL5,

2 %

G646 A1 4 HigH
g AMTR R oM s



i Lk =N fefe Lp
1k R N T R IR
Fk A (847 - TH)
* TH fHIERTO%E W O1E 7t
3 EF 4 110 2, 600 2,710
1 [EEA 4 110 2, 600 2,710
6 A4 325, 001 A2, 000 323,001
1 —RSFHEAE 325, 000 A2, 000 323, 000
% A & 3, 056, 000 600 3, 056, 600
ik &% (A7 - 1)
* TH fHIERTO%E wWOE % &t
1 BB 87,070 600 87, 670
1 WEEEE 81, 730 600 82, 330
% H & 3, 056, 000 600 3, 056, 600




% AN EH A I 7 B S 1 B
(5% (BEfir « 1)
HiERTO%E HiOIE % it
3 [EIE S 4 110 2, 600 2, 710
6 A% 325, 001 A2, 000 323,001
w AN A 3, 056, 000 600 3, 056, 600




i

K i IE AT O%E ffi IE %H i

Sy
o

4
IR
\

A

87,070 600 87,670

T

o>
Wi

A 3, 056, 000 600 3, 056, 600




(BA7 - TH)
iOIE B oo MO N F
i, £ M R — & W
[ U2 3 4 o5 fE Z O % WK
2,600 A2, 000 0
2, 600 0 A2,000 0
— 5 —




() 3 [ERES A
(1) 1 A4

#* H H fHIERTOFE i 1E %8 B
3 [ JE =2 H 4 110 2, 600 2,710
1 [ A Bh 4 110 2, 600 2,710
2| AT ASEE HE A B4 10 2,600 2,610
6 N 325, 001 A 2,000 323, 001
1 — R FHEON 4 325, 000 A 2,000 323, 000
1 e N 325, 000 A 2,000 323, 000

(] R AR5



(HAZ : M)

i )
7 G5!
X ga & #H
1 AR - Bl 2,600 1 #A{REE - BiEBHIE S 2T L) 4 2, 600
Bl il o A
T DB A
B4
3 B E5EHSE A 2,000 1 BREHGEERAS A 2,000

3k EESCHA




() 1 HREE
(I8) 1 KHREEHE
N B ‘ ) T IEAR D TR ER
7 H H HIERTO%E fHIE%E B - -
e IR — AR
Py 87, 070 600 87, 670 600
1 TS T 2 81, 730 600 82, 330 600
1| —iis Bty 81, 730 600 82, 330
[ i =7 HH 4
2, 600
Z D
A 2,000

([F R B PR R 2 Rl 2 )




(HAZ : M)

i
B, B
[Z: VAN {j‘z %:E
12 ZFEH 600 1 MBSE B —AxiEE 600
ZEeEh 600
R ER Y 2T AEERER 600




